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SMleyenrast : (1) Sioasg elamss@ph Fflurs USHeurdl 2 arargr erenliseaer sflurisgis

()

Instructions : (1)

GOy :

Note :

GoiLy :

Note :

()

Qamerereyb. HFsFLILAHND GenulHLISen imDs sarsmeantumerflLLb
o L anquirgd Qgflelsse.

feob oag smUy @wulmen LLEACL . TRHUSHEGLD
2N éGeTy QausHGL Lwau@®ss Caamdb. ULRSE ueTasDd
Quandléd LweTLHSSe L.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

LEA-1 (2.w9A-greuralwe), LGH-TI (2.u9f-elamdwed) salssel aS]anLg,_e_r,rraﬂa)
efenL_weflégeyld.
Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate

answer books. .t

() Swenss NaTssEhsEL elanwellssey. 8x1=8

ugd - 1 (2-Wilffl-greureiiwev) / PART - 1 (BIO-BOTANY)

(dlLGluesoraen : 35) / (Marks : 35)

ifley - 1 / SECTION -1

f,

(i) Qsr@asiul@érer BremE wrpn lmLseaid Bsab ghymLw |
eflenLeniws Coip@sHss NI HLer elenLemanb Cargg) erpseayd. |

(i)  Answer all the questions.

(if) ~Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. Qmusss &t emwps esurgdubd wersNés @f aOagsam @ :

(=) HafGrr@enpres (<) poid
(@) QuiyCapgen (F)  WhooGummQuwim
An example for Zygomorphic Cyathium inflorescence :
(a) Clerodendron (b) Ocimum
(c) Pedilanthus (d) Euphorbia
2. QMUES RMESMLHS TGN SHD & sraliubHEDG.
(1) wyrélemm | (<) @GHEMALCLE
(@) wsar (FF)  NebellCwél
Bicollateral Vascular bundles are present in
(a) Dracena (b) Cucurbitaceae
() Yucca (d) Lilliaceae
3. amiser wpmb Aflsdlen Qrien &mer DNA ordlfl ___ cueswreng.
(<) H (<) A
- @ B | () <
| Watson and Crick Model of DNA double helixis _____ form.
. @ H ®) A
C© B | @ ¢

4. seunss gemlQunmer s erafle), seurs ralflem WL

(@) 07 (<)

; (@) 1.33 () O

| If respiratory substrate is protein, RQ (Respiratory Quotient) value is :
(a) 0.7 (b) o
() 1.33 d 0
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3 8427 |
ueOCGam euesliULL grauy Gprelwdidy arTL&E 6 @RDHMHIMDEET DD
GeuppientoseT LB s
(=) earpiigmt cuensLILTfH
(=) Caudw euemsLILT(H
(@) eamexflue euensLiLr®h
(F) ep&Fam eSS IUTL(H SNl (penm

The taxonomy which involves the similarities and dissimilarities among the immune system
of different taxa is termed as : '

(@) Serotaxonomy
(b) Chemotaxonomy
(c)° Numerical taxonomy

(d) Molecular Systematics

Sapm I :  GUSHS HTS SLenL LT ﬁgﬁ@fm @enaurar SLGEwb CsraLg).

sapml I :  LITeued ganerdslen Lam® eppeugib @G Srmen sreblane 2 eer
QLiseild Cararmélms.

(<=1) sapm I saupreng pammed sapmy I sflwireang

(<) @re® FapmisEnd Fhwrag)

(@) sammy I sflwreng <yemma sanm) 11 g;mgbtrsmgj

(7) Qrem® sappisEHd H6/pTaE)

Statement I : Spring wood is darker in colour and has lower density.

Statement IT Diffuse porous wood is formed where the climatic conditions are
‘ uniform throughout the year.

(a) Statement I is wrong but Statement II is correct
(b) Both statements are correct
(c) Statement I is correct but Statement II is wrong

(d) Both statements are wrong

[ Hpiys / Turn ox}er
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7. &flurs Qur@pSyeratenss GCairbEsEH.

1) wellss Ayt () 5ferB
| (2) wésTEGemer eramQemnis (i) GA,

@) yEhesseT (i) pbfen A
@) Qapifid BSer eNbg) (iv) en&evTigeim
(<21) (1) - (i), ) - G), @) - @), (@) - (v)

(<) (1) - G, 2) - (i), (3) - ), () - &)

(@) (- 6, @ - ), @) - ), @) - ()

(™) | (1) - Gv), @) - @), B) - (i), (@) - i)

Select the correctly matched one.

(1) Human Urine (i) Auxin-B
(2) Corn gram oil (i) GA;

(3) Fungus (i) Auxin- A
(4) ' Herring fish sperm (iv) Kinetin

@ -G, @- 6 6)- @ -
B -6@)0- -0 -6
O 0-@0-6@6)-00
L@ -6 @-0,6)- @) 0)- @

8. erulfley greumd griflw CablL s greur shsdeows QaramLg) ?

(31) PuCGemmenGClLimibaseT (=) QLACLI e _sar
(8) =epfCwrenGiumbaer () WenrrCum’erul ser
Which of the plant group has gametophyte as a dominant phase ? 1
| | (@) Gymnosperms (b) Pteridophytes
l- (c) Angiosperms (d)- Bryophytes
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1Nfley - 2/ SECTION - 2

GOy sremeuGuignid mretIE@ eNlannssEhs eflep_wafl&aa . 4x2 =8

Note : Answer any four questions.

9. gCsab Qran® Apliy auems wEseMuden aamssmar 6r(pFaL.

Write any two types of special inflorescence.

10. fysaiCurens® wppb MusalCureL® - Cagubdsss.

Differentiate - Nucleoside and Nucleotide.

11. e Qamevaser LHM fAm GOHY T(PSIS.

Write short notes on Tyloses.

12. BrreduGurédlen cumssmens GHILIGS.

Mention the types of Transpiration.

13. STHOILS GUETITLIL] GTEIMTE Grede ?

What is Aeroponics ?

14, rCammCasen — euaFM&SE|LD.

Define Enolation.

19fey - 3/ SECTION - 3

GBIy sTemeuGlen)id eLPEYTM)] eflanrsEenaE edlenL wail&seyL. ellenr erawr 19 -5
sL_L_muions edlaLwef&&al. 3x3=9

Note:  Answer any three questions. Question No. 19 is Compulsory.

15. (QersCL vt arenpidd erénan ? THSEIFETLH HHS.

What is Plectostele ? Give an example.

A [ Simriys / Turn over
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16.

17.

18.

19.

Ghoaus sraursdHenar upd A GO eT(GeLD.
Write short notes on Pitcher plant.

greurs Qesafigib efleri@ Qswsaiigib o drar sl GLrenganélenav €Y [B[C):2: 52

Differentiate Cytokinesis in plant cells and animal cells.

HDHE uTaL@GE SHEDPUNET LILLD UeIhg LTShIGmars GHI&Ese L.

Draw and label the parts of open vascular bundle.

S tul L. Geéd @miy (PCD) upd A @Hiliy S@Hs.
Give a brief account on Programmed Cell Death (PCD).

\9fey - 4/ SECTION - 4

GO : Siemensg elamssErs@n e waflésalb. 2x5=10

iNote

20.

21.

Answer all the questions.

(=1) dymd G, fymbd erdir urdeflukisenar GaumLBSseyLb.
EALVEME
() ~CUCLA BEOLUEDE TCEDID @is QUGS WEALEEIUE®S TP,
(@) Differentiate between Gram positive and Gram negative bacteria.
OR

(b) Write any five economic importance of family Fabaceae.

(1) verisaiagdear sewlibear LS L6 eflors@s.
S|V
(<) C, sphflenw slené@s (efeTésd SDeg uaTULLD).
(@) Explain the structure of Chloroplast with diagram.
OR
(b) Explain C, Cycle (Explanation or Flow chart).
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u@S - 11 (e-ulfl-efleoriflwev) / PART - II (BIO-ZOOLOGY)
(ofliGuewmasen : 35) / (Marks : 35)

9fey - 1/ SECTION -1

@@Ly () Smensg NamssEns@n e waflssab. 8x1=8

(i) Qasr@éssuul(Berer mren@ wrHm MeLsalld Wlsa|b gL enLw
Ao eows Csibds@sss GHULELa oL ilomarub Cers gl
ST (DSE LD
Note : () Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.

1. aflurs Quirmasliu’ Berer Gamamanw Giay ClFws.
(=) Qmeuans - Qeuctener Yeflog Tré
(<) pLleoLuiBuenay - Gribom
(@) Siousm ams - Hdsd
() sM&Camf) euens - Clevdammien
Choose the correctly matched pair.
(a) Dual purpose - White Plymouth rock
(b) Egg layers - Brahma
(c) Ornamental breeds - Silkie
(d) Broiler types - Leghorn

2. &pssamieaundle gaons seily 155 Lwdlar e mpuLer ASTLiloLwg. ibS
Qenm 6T ? :
(.91) BrbUS SIS &SLFsR1Esns o Ceuafliur® <Hafgze.
(<) BrOLS snamLe edllepreurss SLSSLILIBLD.
(@) Qswe Beranpssh srayse alfl sLEFILEEDS.
(/F) gremeSlwiT Semi c%ésaurra'ndsaﬂd) < msThCs Qen_Qeuafigamer rpuBSglemer.
All of the following are associated with the myeline sheath except :
(a) Increased energy output for nerve impulse conduction

(b) Faster conduction of Nerve impulses
(c) Saltatory conduction of action potential
(d) Nodes of Ranvier forming gaps along the axon

A [ HmLiys / Turn over
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3.

EpSs@TLeuDmIET LTI igsafle) srenTiuLTg LT eTS! ?
(1) HIDTLIgs erIbyy (<2p) $&CaHTLTETL Lp&ET
(@) QulLrQpsufs Apfrsn () umd srldser
Which one of the following characteristic feature is not found i

(a) Pneumatic bones (b) Thecodont teeth
(c)  Metanephric kidney (d) Mammary glands

n Mammals ?

‘H& Freud’ ereim SimWssLILEL @eantiiL] H& eTgl ?

(=) Qrig@ert e (<) gAGurert S
(@) =i feurar Frren fe () igliGurey g&
Which one of the connective tissue is aptly called ‘Tissue Fluid” ?
(a) Reticular Tissue (b)  Areolar Tissue

(c) Dense Regular.Tissue (d) Adipose Tissue

@réssden apald maTuirasEs QsdaId STTL6T ML B&mEGaT Hland :
(1) smrulflGeanrr anGum@Cermen () srrurefls julleb

(@) smiursd adGuorECarmGer () < sed adCom@Germller
CO, is transported through blood to lungs as :

(a) Carbamino haemoglobin (b) Carbonic acid

(c) Carboxy haemoglobin (d) Oxyhaemoglobin

SeUDTET @enemTeniLd SaorL s,

(=1) s CLmAenmad - sriGasmermsid

(<=,) Qaed - sensulflenip

() eraGLmAenrs cueelibenane - sriEGsmierte aumel i Qenand
() Qerreviom seuey - fluyflCebor %

Find out the wrongly matched pair.

(a) Cytoplasm - Sarcoplasm

(b) Cell - Myofibril

(c) Endoplasmic reticulum - Sarcoplasmic reticulum

(d) Plasma membrane - Neurilemma
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Qrss DiSTprenhsEse @ris QUL sHen Gash iflsalb Gempaugl Tear ?
(=) @rés mampremiisefon Qurssl uriy peTLalsaler QuIEsH UTlioL
ey Quflugy.

(<) ug Qe MsHevar 69l s @opHseTe] QrHs QeualiCuDDSNSS Gla;rrafm._
@Lg Qauar Nsddar pob Aol 8s Qrbs HETBraEsE@sE @Tssn
c?}lﬂﬂésemu@m@nd).

(8) Qrés praiusafen seui Qs EnsEGEar gsedgaear uflormd 2iareflpG
Quoslugrs @damea.

(F) Qrss B@rprerhiser @swusms o6 saraflillmuugre Qrss @LLD
Qugieurs perL QupADS. - |

Why is the velocity of blood flow the lowest in the capillaries ?

(@) The total surface area of the capillaries is larger than the total surface area of the
arterioles.

(b) The systemic capillaries are supplied by the left véntricle, which has a lower cardiac
output than the right ventricle. '

- () The capillary walls are not thin enough to allow oxygen to exchange with the cells.

(d) Capillaries are far from the heart and blood flow slows as distance from the heart
Increases. :

%ﬁg}]ﬁua; mem@waseaia Bir Ber o MEpeliLBseisEE 2-sa b anriGome
(1) =pemg eyl gs enriGomer

(<=) CamellflevGLrensail e
(@) urendlfCwrengLslen
(/) =eEpACWrCLendler 1T
The hormone which helps in the reabsorption of water in kidney tubules is :
(@)  Antidiuretic hormone |
(b) Cholecystokinin

() Pancreozymin

(d). Angiotensin II

19fley - 2/ SECTION - 2

@il : semauCuemb BrenE clamés@Ens@ el wassay. 4x2=8
Note : Answer any four questions.
9.  Andlans Cariumige smree Lriclefler LukiE wrg ?

What is the role of Charles Darwin in relation to concept of species ?

10. erguiby Wemasaflen gCGaaib Gram® uaTsmensd GOHlLG@Hs.
List any two features that characterise bony fishes.

E : [ Hwliys / Turn over
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11.  WwARTYPSSET ereueurm sHeurslsdlenpen ?

How do earthworms breathe ?

12. ulriygsHmen — cuenrumIGESe]L.
Define Vital Capacity.

13. e 2 Mepstin®@sd Qplrralar erliugdulier oHsons oL QunSIDg ?
In which segment of the nephron most of the reabsorption of substances takes place ?

14. evermi® apriGorerser Csabd prandear Quufamear Ul igwalBHis.

List out the names of any four Steroid hormones.

191fley - 3/ SECTION - 3

@MY : sTemeuCuend eetny NamesEnsE e weailssa)b. eflamm eram 19 -8
sLLmuwnrs alewelldsa|b. 3x3=9

Note : Answer any three questions. Question No. 19 is Compulsory.

15. ansafled sreriu@ srHmL evusailer Laflaanard GO GHs.

Mention the functions of air bladder in fishes.

16. greuy 2 amarflsaiiey GLOUgSEsULEGS LD, GLoaumd ugduyb sl Quilugrs
DIMLDHGIETETS). 6Fenm ? ‘
In Herbivorous animal both Caecum and Vermiform appendix are larger in size. Why ?

17. uligen QuTmETTSTy WPESHWSHIUSDSE amis.

Give the economic importance of Silk.

18. oyl Meneden apriGomer uarflsar gGaayid ppamdlenar L gwia(s.

List out any three functions of adrenalin hormone.

19. dreu L paaflan euanssar gCs@ID apareon TOSEHT D@L oT(HSIS.
Write any three types of Synovial joints with examples.
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19fley - 4/ SECTION - 4

GBI : Syemensgl efamssEnsEn ofamwalésab. 2x5 = 10

Note : Answer all the questions.

20. (=) seueemler Qaflomar WRTLOSMS LILLD auanThE LITGHRGEEE GDIEE6LD.
S{6V608)

(<) AevgauarLps Qrsss GYTAD BeoL QUMb Qrssd e mpsme laTéEGw

QFTLIT euenyLILLD GuenFIIe|LD.
(@) Draw a neat labelled diagram of the Digestive system of frog.
} OR

(b) Draw Flow Chart of Blood Coagulation in an injured Blood Vessel.

21. (o) sanaflar geafleflwsed gopur@serrar awCuriQur, (lLlurimer)
@anIurQul CrriQurea (girlurieme) alearssd igemen &Ml CFwyb
peopsener LILGFIL a1 efleul.

2160605
(<) Benseflen 2 ammapl L wHlseT wWreey ?

(@) Explain the Refractive errors of eye such as Myopia, Hypermetropia and write the
corrective measures with diagram.

OR

(b) - What are the Nutritive values of fishes ?

-000-
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